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VIVEKANANDAR TUITION CENTRE - ARAMBAKKAM
MODEL UNIT REVISION EXAMINATION - AUGUST 2019

Time Allowed : 2'/, Hours] ﬁﬁbﬂg Ih) /] MATHS [Maximum Marks : 100
Grsirib : 2%y 1o6usf)] QG : GLASS : 10th [Gromds wHriGLssrEsw: 100
ugd -1  PART -I 14X1=14

giily: (1) @uiifalsd o swr 14 sllenrdsensghn allsnlwsilEsan)n.
(2) QenBdslii Geairen BIsg 10TH eflsnl_safsd 10@se Quigdbsons il snuh CoibRsBaal
@i BLe eflsnLulememuid GFydhg slpHeYLD.

Note : (i) Answer all the 14 questions (ii) Choose the most suitable answer from the given four
alternatives and write the option code with the corresponding answer

1. n(Ax B} = 6 wppid A = {1,3} ereflsd n(B) @ueng  Ifn(4d x B) = 6 and A = {1,3} then n(B) is
H1 (2)2 (3)3 (4) 6
2. FF=1F =3 gt F, = F,_1 + F,,_; sten QanBésiinges Fz syeng
GivenFy = 1,F, =3 and E, = F,_; + F,,_5 then Fs is
(D3 (2)5 3)8 411
3. g @Gk Gam jaflmaulss gpemsd o miy 1 whoe Quia albslursn 4. Qibs
G BHLGETILT aflenFuisd shmenar o mitnsaisn smEsad 120 o6 Bméoo?

In an AP, the first term is 1 and the common difference is 4. How many terms of the A.P must be
taken for their sum to be equal to 1207

(1)6 )7 (3)8 H9
4. f = {(Z,a),(3,b),(4,b),(5,0)} 9® f = {(2a),3,Db),4b),5)}isa

(1) swalle sy (2) gpeipdOsramren gy (3) usvsubBfledmba gapbsTen Iy (4) WiHsd Fmy
(1) identity function (2) one-one function  (3) many-one function  (4) constant function

2 6 18 54
© 52950 1257 625 sratr Glrgméed Gam i anflanaufetr Gl g aiElsLh

: 2 6 18 54
The common ratio of the G.P. 525> 125° 625 is

(1 2 @ s 3) 3 @ 2

6. {(a, 8),(6, b)} She0TE| 6D Floeul|F ST erevfled, ¢ LOHMID b WHK seTTENEDT (PEHDHGIL

If {(a, 83, (6, b)} represents an identity function, then the value of aand bare respectively

(1) (8,6) (2) (8,8) (3) (6,8} (4) (6.6)
7. flz) = 22" whpid g(z) = 3%3 eraufléd fog speral If f(z) =22" and g(z) = —31-, then fog is
z
(D) 2k @2 (3) 2 (4) L
2 3zt 9z* 6x*

8. f:A— B syeors Bound iy wommnid n(B) = 7 aeflsd n(A4) syeorg
If f: A— B is abijective function and if n(B) =7, then n(A4) is equal to
{(1)7 (2) 49 (331 (4) 14
9. 65 wPHEpD 117-wiler W.eum.eu—awen 65m—117 eretTp eugalied srpEIDBUTE, m—ulled S
If the HCF of 65 and 117 is expressible in the form of 65m — 117, then the value of m is

(1) 4 (2) 2 (3)1 (4) 3
( @woys 7 TURN over )
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16T = (ol 100) 74 = {mod 100)
(1)1 (2) 2 (3)3 (4)4

11. @O snlod osnieauflensuiler 6eug 2 mIfeir 6 wLREGD 7 eug 2 _miknfledr 7 wLRIGLD
gwib aerfled, sibsnl s asTLFeuflensuiesn 13-cug 2_mici

If 6 times of 6 term of an A.P. is equal to 7 times the 7™ term, then the 13% term of the AP is

(1)0 (2)6 (3)7 (4) 13

12. —3-,~1~,—1—,l,--- ereiTp AsMLTeuflensuiledr supss 2 piliL|

16°8 1218

The next term of the sequence %,é,%,%,m is 1

1 1 2

) o @ 5 3 3 () o
13, 1P +2° 4+ 3% 4 - 15%) — (1 + 24+ 3 + .- +15) ufledr ol

Thevalue of 1°+2° +3° +..4+15° — 14243+ +15 is

(1) 14400 (2) 14200 (3) 14280 (4) 14520

14. 3,X,27 eaug QO OULBGEESGS e iaflens eefled, =z —uler wHy
If 3, X, 27 arein G.P, thenvalue of X is
(1) 3 (2) 27 (3) 81 (4)9

ugd —1II / PART -11 10 X 2=20
(D) 10 elemssensg oG afoLualbsnb, 28 aigl aflam sULmuors ool welss CalsmBib.
(i) Answer 10 questions. Question No. 28 is compulsory.
15.@\mum& ey - susoyuimides. Define : Bijective function
16.10* = x (006 19etspenrm oemown x-@eir wHienLs sambaABs. Compute x such that 10* = x(mod 19)
17.f(x) =3 +x,g(x) =x— 4, asfisv f 0 g = g of ewsiiugy fun?
Jff{x) = 3 +x,g(x) = x — 4, then check whether f o g = g of
18.-11,-15,-19... 1658 &_BHOsTf&T 19- sugl 2 _millspus SHTemis.
. Find the 19th term of an A.P —11, 15, —19, ...

19. X=1{1,2,3, 4} erebrs. g ={(3, 1). (4, 2), (2, 1)} eretrip 2. pay X-aSkmib s X-5g spem smiumesiom
eraet gyuniis. a6 aflenl g ghHm ofeTdsth HRs.

Let X'= {1, 2, 3, 4}, Examine whether the relation g = {(3, 1}, (4, 2}, (2, 1)} is a function from ¥ t0 X or not. Explain.
20.13 Shat aguplh miwds Was py aarsdsr aetiafbomsamusd STemis .
How many Two digit numbers are divisible by 13 ?
21. &Gy QerGési Geirer oy ausmewr gyeal, A= {5, 6, 8, 10 }-felmig B = { 19, 15, 9, 11 }-5
f(x) = 2x — 1 eTaiTmeu) Si60L0%S Gm SWTY eTeoflév, @ mmid b Sy Swissreuinles LI SmTS STesrs?

The following table represents afunction fom A= {5,6,8, 10} to B={19, 15,9, 11} where
Jx) = 2x - 1. Find The values of a and b.

x 5| 6 8 10
fe)lal 11| b | 19

{ 8@uys s TURN over )
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22, streupl UGS ULhIS6r STienLS @M SaTmeTaur sTers; MG 2607 efleml_&HS

SGhS SMITD S mi%. Does each of the following arrow diagrams represent a function? Explain.

(@) "* - i Gi)
AD 2

23. A4BC-é0 DE|| BC 1o guth DE 3 - AE=3.7 Q5i8 arafles, EC-gy sireius.

4D 2
In AABC, DE || BC and [p=%5 . £ AE=3.7 cm, find £C.

24. BxA ={(-2,3),(—2,4),(0,3),(0,4),(3,3),(3,4)} ereofled, A wHmid B sydueabeons srecors
If BxA={(-23),(—2,4),(0,3),(0,4),(3,3),(3,4)} find 4 and B.
25. upbafliqell  eUBHHD aufpemmenwit  LWeTUbLSSL 340 WwHmb 412 &7 15.6un.ey HNetIS,
Use Euclid’s Division Algorithm to find the Highest Common Factor (HCF) of 340 and 412
26. a =1, a, =1 HmDd a =2a_, + o, ,n=3neN eefled, agm geuflewsullesr o
S0 2 MILSEDETSH SIT6T0Ts.
Ifo, =10 =1anda =2a_ + a, , 7 23, n €N, then find the first six terms of the sequence.
27. 729, 243, 81,... eTelip 6U@GESS s suflensuiisir T-6ugl & millemls SHNeors.
Ina G.P.729, 243, 81,... find ¢, .
28.(a) emnesatulL &MY f i1 — o 52 + 6 , ereofled, D=1 (D) F(2e) syfwanenn wdins.
(a) Given the function f:z — 2° — 5z + 6, evaluate (i) f (1) (i) f(2a)
(0051} / (OR)

01 +2°+3° + ... eretrm QBNLFlelT erSsEmenT 2_mili&Eemens Gal lqeorne Sapss 14400 HemLs@ib?
(b) How many terms of the series 1° + 2* + 3% + ... should be taken to get the sum 144007

ugs- 1L /| PART -ITT 10 X 5=50
(D ubs lemssendse almwalss. afem e 42 —6@ SL1TIOTS eflewLWIs1lehsaLD.
(1). Answer 10 questions. Question No. 42 is compulsory.
29. f:A - Besip snjureng f{x) = ;—c— 1 et susmywmpGSILEABH. BBig
A=1{2,4610,12},B = {0,1,24,59} sus Guéew Gurwps sy [ Uedtaugpid (psnmasilst @i,
(i) aflenes Comgseflsn e (ii) on'ssswemr (iii) SwbLsb@H LLID (iv) ewemguLID
Let f: A - B be a function defined by f(x) = f — 1, whered = {2,4,6,10,12}, B = {0,1,2,4,5,9} .
Represent f by (i) set of ordered pairs (ii) a table (iii) an arrow diagram (iv) a graph
30. f:N > N aem swjuraig f(x) =3x +2,x €N a0 susnJupidsieLmed
(1) 1,2,3 1lipsd 2 mdmeend @mamis. (i) 29 wipnd 53 —er pedr 2 (FHEEDENE  HI6HIS.
(iii) srinder snsnmsmIG HT6mH S,
Let £ be a function f: N — N be defined by f(x) =3x +2,x €N

(1) Find the images of 1, 2, 3 (ii) Find the pre- images of 29, 53 (iii) Identify the type of function.
{ &wprrys 7 TURN over )
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- 81,83, S5 sraiiien (pempBL 5 Gl BE OHTLT cuflensuled (S0 N, 2n, 3n 2 miysela amBsHsd G,
53 = 3(S; — §¢) sron Pieyss.

. The sum of first n, 2n and 3n terms of an AP are S1, 57 and 53 respectively. Prove that S3 = 3(5; — 57)

32.A={2e Wiz <2}, B={zeN|l<z <4} wpgdp C ={3,5} eefie,
Ax(BUC)=(AxB)U(AXC) aeusmeuhenné sfluniés.

Let A={zeW |z <2}, B={zeN|l<z<4}, C={35}.

Verify that Ax(BUC) = (Ax B)U(Ax ()

33. 6 ®ipd GsTuTalloald 10 wHmb 18 Dhag o prin|&ar penpBu 41 whpih 73 arefled,
27 Dhaigl 2 plieniid HTewlb .

If the 10th term of an A.P is 41, 18thterm of an AP is 73, then find 27th term?

34. 12 Qg.18, 13 Gg.8, 14 Qs.15, . . .23 Q.18 Spdwatapen peonCl Lidks laajsansd
Qaremi. 12 FmirBisalal LTLILaTmald ST ,

Find the total area of 12 squares whose sides are 12em, 13cm, .-+, 23 cm. respectively.
2z 47, T < —2

35 aniy R - R spemg f(z)={2" -2, —2<z<3, gar EUEDTIIMISSLILIL L_T6D,
3r —2, >3

@ @) G- G420 () T3

J(=3)
Sy&lweunDmledt 0 AIYSEEDETS STetuTs.
20 +T,x < -2
If the function f:R R is defined by f(z) = {2* — 2,—2 <z <3 , then find the values of
3z 2, >3

() f4)  GDA-2) G fA)+2f1) (iv) f(1};33{(4)

36.f(z) =22 +3, g(z) =1-2z LOmb h(z) =37 ereofe, folgoh)=(fog)oh eern Pmieys.
If flz}=22+3, g(z)=1-2r and h(z)= 3z Prove that fo(goh)={(fog)oh
37. P X p X py X pt = 113400 @i, Pys P,y Py, P, ET60TLIET gm) euflemsuls) siemiohs Lism

GTEUTTET [DHMD T, &y, T,, T, GTEOTLEOT (L(p&aeT erevfled, PPy Py Py OODID T,,7,,Z,,%,
SyEleunHINer WHLUILES TS HITesoTsS.,

x, . &, I ) - -
If pi* x p;? x p* x p;* = 113400 where P, Py, Py, p, are primes in ascending order and
,,%,,%,, 7, are integers, find the value of PPy Py P, and x,%,, 2, .

38. R0 SUGEEGS asTLTaflensulsr sSibisbds st 2 miserfleir OLgpSSHLe0eT 343

DML SEUHINEDT Fn(hS60 % eTeufleh, SiBS cedTm] 2 MBS SHTers.

The product of three consecutive terms of a Geometric Progression is 343

and their sum is El Find the three terms.
3 ( @iings s TURN over )
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39. 300-&@lb 600-5GL0 BB 7-8480 UGUOLD ieDeTHSH U eretorameflen FnhGEd HT6T0TE.
Find the sum of all natural numbers between 300 and 600 which are divisible by 7.

40. 6+ 66 + 666 + -+ eredTD ABMLT suflenguiistt (L Hed 11 & mILserfledT Fo.(bHED &HiTevors.
Find the sum to 7 terms of the series 6 + 66 + 666 +...

41. ggliuewL. ellflEE510 CHOHDD SivenF SHdad CHpoid amd Hoies.

State and prove : Basic Proportionality Theorem (BPT) or Thales theorem

42, () QO Fnlops gnLieuflensufied SipsHHLHS BTG &Nt sefler s bsHed 28 HmID SeuhHfiest
eUf G ohsaflellr Fn.bHed 276, SBE HT6TE TEOIHED6NSH ST S.
{8) In an A.P, sum of four consecutive terms is 28 and their sum of their squares is 276.
Find the four numbers.

(sdsum) 1 (OR)

(b} @ GumsEs Qgr_far (g n, 27 whHmid 37 gLEw 2 nILSsTlET BSOS (PennGil
S,.S, ommib S, ereafle, S, (S, — S,) = (S, — S, s1e07 Elieies.

(b) If 5.5, and S, are the sum of first #, 2 and 3» terms of a geometric series respectively,
then prove that S (S, — S,) = (S, = 5.

ugg- IV / PART -IV 2x 8=16
(1) Bm slemssapsat el welsaar. (i} Answer both questions.

42.(8) 6 QE.AB QyTUPETST Q5 UL L L suemTs gl Sy s6ir emLoind;Hedl sl 1008 Qeraaalaysmer qam Lidaflamud
©i&s. seTafltllrig alLsHNG QErHCHTHS MmThl o6 BaTrismer SarsSEis.
{a) Draw the two tangents from a point which is 10 cm away from the centre of a circle
of radius 6 cm, calculate the length of tangents.

(evsdevai) / (OR)

(b) swgtngan BC = 8 @&l £A = 60° wpmib 24 ulsir @@anGeubpunsig BC g D asm
ysitslulst BD = 6 Glx.1S etsimonnry ohAb8ma stallsh, (pdlasramb ABC aangs.

(b) Draw a triangle ABC of base BC = 8 cm, £A = 60° and the bisector of 24 meets BC at D
such that BD = 6 ¢m.

43.(a) ¥ = £ + T — 2 —6b1 QUEBDILILLD QUEDTTHE) HISEIT APEID ° + 7 — 2 = () 660D FLOSHTUNL I96mE0TS Hif SHEYD.
Draw the graph of y = 2 + 2 — 2 and hence solve z° + z -2 = 0.

{@nse0m1) / (OR)

(b) Pemevwmen sesienisd 18 gl oemll Coumdhded Glasdaud @f SWHATT v srag 24 8.
HNrHms Soerifian flengulst 1. &G CErsensell Someniyen oy Hensulsd &I G
amBooons 1 wsel Cprw ComauBAps. Soenifle Gatswn s,

(b) A motor boat whose speed is 18 km/hr in still water takes 1 hour more to go to 24 km upstream
than to return downstream to the same spot. Find the speed of the stream.
kkkkkkkhhikkkikihkhk
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